1. (10)  After seeing Trevor’s catchy ad, Davy Jones wants to buy a car from him.  Use the data from the Trevor Car Lot problem and process it by the Regression program in Excel.

	  Car #
	     Price of Car
	  Age of Car (in yrs.)

	     1
	       $14, 750
	             2

	     2
	       $  6, 770
	             6

	     3
	       $12, 115
	             3

	     4
	       $17,825
	             2

	     5
	       $  8,500
	             5

	     6
	       $  7,000
	             4

	     7
	       $10,250
	             2

	     8
	       $13,450
	             2

	     9
	       $  9,895
	             3

	   10
	       $  8,000
	             4

	   11
	       $10,125
	             1

	   12
	       $16,500
	             1

	   13
	       $  5,500
	             4

	   14
	       $  6,850
	             3

	   15
	       $ 15,000
	             2


(a) (5) Paste your printout here, or attach it to this assignment.

(b) (5)  Write the regression equation.  Use it to find the predicted price of a three-year-old car that Mr. Jones wants to buy.

